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UNIVERSITY OF EMBU

2017/2018 ACADEMIC YEAR

SECOND SEMESTER EXAMINATIONS

THIRD YEAR EXAMINATION FOR THE DEGREE OF BACHELOR OF COMMERCE

DF1 304: INVESTMENT ANALYSIS AND PORTFOLIO MANAGEMENT

DATE: APRIL 6, 2018 TIME: 8:30 AM - 10:30 AM
INSTRUCTIONS:

Answer guestion ONE and ANY Other TWO guestinns.

QUESTION ONE (30 MARKS)

a) Assume that you recently graduated with a degree in finance and have just reported to work
as an investment advisor at the brokerage firm of Suntra Investment Bank. Daisuke Horibe is
a tourist who has just come to Kenya from Japan and expects to invest substantial amounts of
money through Suntra Investment Bank.

Required:

Explain to Daisuke Horibe;

i) Any three differences between investment in financial assets and investment in
physical assets. (3 marks)
ii) The stages involved in the investment process. (5 marks)

iii) Any two strategies played when undertaking investment in the futures market.
(2 marks)

b) Critically evaluate assumptions of the capital asset pricing model. (5 marks)
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¢) Njuguna Odongo, a Kenyan investor bought the following combination of shares at the

indicated prices in January 2017:

Share No. of shares Unit price
SCB 20,000 Sh.165
Bamburi Cement 50,000 Sh.150
Nation Media Group 30,000 Sh.72

At the end of the year, the prices had risen to Sh.231; Sh.196 and Sh.115 for SCB,

Bamburi and Nation Media Group respectively. None of the shares paid dividend during

the year.
Required:
Compute the portfolio value weighted mean rate of return. (5 marks)
d) Compare and contrast fundamental and technical analysis as used in investment analysis.
(4 marks)
e) Briefly describe each of the portfolio performance measures and explain how they are used:
i) Sharpe’s ratio (3 marks)
ii) Treynor’s ratio (3 marks)
iii) Jensen’s Alpha (3 marks)

QUESTION TWO (20 MARKS)

a) The returns of Safaricom PLC and Nation Media PLC for the past six years are given

below:
Year Safaricom PLC Return % Nation Media PLC Return %
2013 9 10
2014 a 6
2015 3 12
2016 12 9
2017 16 15
Required:

Calculate the risk and return of a portfolio consisting of both securities where the

proportion of funds invested in Safaricom PLC is 80%.

(10 marks)

b) Technical analysis has been around for more than 100 years, and it is not likely to disappear

from the investment scene anytime soon. Discuss the implication of efficient market

hypothesis on technical analysis.

(4 marks)
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c¢) The risk free return of Chibuya PLC is 10% and the expected return of the NSE 20 Index
(market portfolio) is 18%, and the risk measurement of the market portfolio by standard

deviation is 5%.

Required:
Construct an efficient portfolio to produce a 16% expected return and determine its risk.
(6 marks)

QUESTION THREE (20 MARKS)
a) Briefly explain the following terms;

i) Forward contracts (2 marks)

ii) Futures contracts (2 marks)

iii)  Option contracts (2 marks)

iv) Swaps contracts (2 marks)

b) The stock of Home Africa Ltd currently trade at KEs. 30. A call option on Home Africa Ltd.
Has a strike price of KES. 25 and expires in three months. The current risk free rate is 5%,
and Home Africa Ltd. Has a standard deviation of 45%.

Required:

Determine the value of the Home Africa Ltd call option premium using the Black- Scholes

option pricing model. (12 marks)

QUESTION FOUR (20 MARKS)

a) Many portfolios containing equities also contain other asset categories, so the management
factors are not limited to equities. Explore any four asset allocation strategies.
(8 marks)
b) Describe the efficient market hypothesis theory. (3 marks)
c) The following information relates to two securities X and Y which lie on the Security Market
Line (SML)

Security Required Rate of Return Beta Coefficient
X 18% 1.0
¥ 22% 1.3
Required:
Determine the risk free rate of return. (4 marks)
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d) An investor is considering making an investment in the shares of Home Care Ltd. The
following are the attributes of the five economic forces that influence the return of the share.

The risk free rate is 9%.

Factor Beta | Expected Return | Actual Return
GNP 1.95 | 6% 6.50%

Inflation 0.85 | 5% 5.75%

Interest rate 1.2 | 7% 8.00%

Stock market index | 2.5 |9.50% 11.50%

Industrial production | 2.5 | 9% 10.00%

Required:
Determine the total return on the share. (5 marks)

QUESTION FIVE (20 MARKS)

a) Performance of the portfolio depends on certain critical decisions taken by a portfolio manager. In
view of this statement, discuss the determinants of portfolio performance.
(6 marks)
b) Suppose you are asked to analyze the performance of two portfolios having the following

characteristics:

Fund Observed Return Beta Standard deviation
Portfolio Zimele 18% 2.0 0.03
Portfolio Sanlam 12% 1.5 0.00
The risk-free rate is 7%. The return on the market portfolio is 15%. The standard deviation of
the market is 0.06.
Required:
a) Compute the Jensen index for portfolios Zimele and Sanlam (4 marks)
b) Compute the Sharpe index for the market portfolio. (2 marks)
¢) Compute the Sharpe index for portfolios Zimele and Sanlam (4 marks)
d) Compute the Treynor index for the portfolios Zimele and Sanlam (4 marks)
--END--
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